T

e TS R R 001
i : : : £.009
S 2 008

[ .007
...... §ooe
f f f 2.005
.......... 0.004
[ : 0.003
0.2f---- CORT e 0.002
- Qe 0.0014
L : . q

Fake rate vs P, | Duplicates Rate vs P, Pileup rate vs P,
: : : 20-0% :

9.009
o]

.008
o

3.007
3.006
---------- 0.005
---------- 0.004
---------- 0.003
: : : 0.002
0.001]

aF

Takerate vs p
o
[es]
!
.

o
o
—
farm

I
IS
[

Ratio

S S S S e feeereeeae] e, ] e o] .

Ratio

.
T

-1 I : : 2 3 -—1 : : : 2 3 -—1 : : : 2 3
10 1 10 tra%g P, (Ge\}P 10 1 10 tra%E P, (Ge\})O 10 1 10 tra%g P, (Ge\})O

UéIVI V000 _RO0000000T _Giobal__mMRFTI0000__RECO

M~V0001"R000000001""Global__mkFit1000 "RECO
M_V0001_R000000001__Global_mkFit1000ATime__RECO

- 05 , — : : = 0.01 : : — : =0.0%
. . . . " . . . N N 0
009F -+ b e R RR St 2.009
0SS SUSSOOS SN SIS S S %.008
N N N N N o
007F------ Feeeeee EARRREE AR d.007
N N N N N S
PRRRRE: ; 006F+++++ PRTRRS RN beeeende e d 0.006
+ ------- SRR OO AR ) A D005+ -+-h e 0.005
T T V' (e N N S 0.004
T o [JEToc Tt W S S S s
0. }--*—--;{f-++ﬂ+-++f-++ﬂ+|+*#+ ----- fooeeens 0.002F -+ 0.002 :
0.05f------3---o--- CREEES ! + ------- ARREEERS oo 0.001 0.001F------5------- Foeeee ARRTIE ARREEERS oo
Y AU PO DU I T Qb

fakerat
o
w ©
S, B o S
i
upjicates ey

Ratio
Ratio

0.95! i i Il i A oL H H H H oL

Fake rate vs phi [Duplicates Rate vs @] Pileup rate vs ¢

& 0'5:: . . . . . H 9001 . . . . . H 9001: . . . . . H
L I T O Tt U RIS T My M
R A A S .008 %-008?} ------- poerede
80,35+ CRREERS Breeeees SRDRRRLERLERELS %.007F D.007F------- SERPEES B e
. : : : : : : ] . > E : : : : : N

O S RRTEE SRTEES SRR 2.006 B.006F-+++ e eeeueeen b
0.25 oot b 0.005f 0,005+ -omeesrhemeed e
02;‘5"}"": """ +1r'1t""+ """" 0.004F T S S
o.15§§--+--++ﬁ+ ------- t -+--+¥++--- ++++++-+§+ 0.003F 0.008F -+ eierreesonne b
O R Ral B R s 0.002F 0.002f+-+--vsee b
s R N SRUII S SN 0.001E 0.00ZE- e deererefeenenisbinnnini b
o ;.uC:i" —— o T o Q__."" -t o q:_i.'.'..'.'..i.!.'.'..'...'.!.'.!..!.'..'.'.i.'..'.'..'...'.'..'.'..i
& L + [ g F g E : : : : :
1 4 : (X £ P ES STTEPES RPIITE e RLeattt ] RLOEEN! FCLEPS RREPPRS PRTECOL-TEPRRRS

3 2 -1 0 1 2 3 3=z 1 0 1 2z 3 3= 1T 0 1 2 3

track @ track @ track @



	Contents
	Page 1


